EARAROBEEIERT — 2 N— IBISH —F

201354 H250 (k) 1EIFIRI2E

W 3Ll FC4—6 C4 HSFZ—M80AT BRI R
[AE£] 1% :150,000  ~ 2#&:24,000 ™M  337%&:18,000 M . 43%&:12,000 M 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- . LA . — - 7% Fd
1 LB EIN #o4 | ZAREH 1.(1_7).1 22 | 30.1 2 | 468 ’f’*g%i (lkim8)
RHISTLIFL N BiH IS —22Y (-8) BES
NN NEE1T 18. _ ] _ \FE (fEE)
2 3 NALREZ I 36.0 ! 1(148)0 o %8 ! ?:”2 /Emuﬂl i
RL:d—ILRAqO— B:EILHC Y- NI PN
P s FREABD :18. = . - 1ERERER (dtiaE)
N » PIPPENYEY # o4 | BE Fa e | B el
LN E—TOFV 48— B:HII8%4> Pt}
i 4 | AMEEE 1:18.4 6-4 40.1| — 3 414 AR (At7mE)
4155 71 54.0 (a 1/2) (-14) 2 RiEZ =
R:Uh—> B:I597TI— KR
.= HBHHRE :18. - . - FOBE (tEE
5|11 77v78h%— SRRE tie e A TG [heme
R:TIyra%S—F B:YrFauIyS EBE OEB
N N FEBX :19. = . = WiEFE (dvimd)
N BEPEZES H o7 et 1 (179)8 3-4 41.6 5 :113) /J\étziz:m_
RS RS —N— BFA =Tl b RS
— EBEZ . = — FOBE (dtmE
7 4 NSy oahat— 4 12 ?%.0 1(.11/92.>9 7-7 41.4 7 :(1)3 15_;&?: B
iFANRINGR B4 7a-U7T HLE R
® I —F—EBIERL
13—7+—
20—F—
Jol=5r= 1,6,(2,3,7),5,4
A =3r= 1,(2,6),(3,5,7) .4
[ N3
BB 6 220H 714K 3-6 100H B = 3-6 140H 3EHE 2-3-6 260M
8 B 6 130H4 2-6 230M B H 6-3 260M K31 6-3-2 820M
3 110 2-3 170

ABICOVWTRDTEEERROODE. TR LIV,




